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Examiner tips


Advice from the examiner on key points in the text to help you learn and recall unit content, avoid pitfalls, and polish your exam technique in order to boost your grade.
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Knowledge check


Rapid-fire questions throughout the Content Guidance section to check your understanding.
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Knowledge check answers


Turn to the back of the book for the Knowledge check answers.
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Summary




• Each core topic is rounded off by a bullet-list summary for quick-check reference of what you need to know.
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Questions & Answers
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About this book



The AQA specification for the A2 Law examinations is divided into two units. This guide covers the two separate substantive law options in Unit 4 — Criminal Law (Offences against Property) and the Law of Tort. Property offences include theft, burglary, robbery, criminal damage, blackmail, fraud (sections 2 and 11 of the Fraud Act 2006) and making off without payment. Tort law includes the elements of the tort of negligence from Unit 3 and builds on these, covering nervous shock, pure economic loss, occupiers’ liability, nuisance, vicarious liability and Rylands v Fletcher.


This is a substantive, ‘real law’ unit, which means that the examination is a ‘problem-solving’ paper that requires you to be able to use case law effectively.


The examination for this unit lasts 2 hours. It comprises two scenario-based questions on each topic, one of which must be selected. Each question consists of two parts, (a) and (b), which are both problem-solving questions. The final part of the examination paper deals with concepts of law and requires you to answer one question chosen from three.


There are two sections to this guide:




• Content Guidance — this sets out the specification content for Unit 4 (Sections A & B) and contains references to cases that you will need to study for a sound understanding of each topic.


• Questions and Answers — this section provides questions covering all topics, followed by A-grade answers, demonstrating how to employ case law to best effect and how to apply appropriate legal rules to answer the question set. Examiner comments explain the elements of the answers for which marks are awarded.








Content Guidance


Section A: Criminal law (offences against property)



Theft


Theft is a stand-alone offence as well as being an important part of the offences of robbery and burglary. A good understanding of this offence is, therefore, vital to your knowledge of other offences within this unit.


Theft is defined in s.1 of the Theft Act 1968, which states: ‘A person is guilty of theft if he dishonestly appropriates property belonging to another with the intention of permanently depriving the other of it.’ This definition can be split up into actus reus (guilty act) and mens rea (guilty mind), and both must be present if a defendant is to be found guilty. In answers to exam questions, each element should first be explained and then applied in turn, starting with the actus reus.


Actus reus


The actus reus of appropriating property belonging to another is defined in sections 3, 4 and 5 of the Theft Act 1968.


Section 3: appropriation


‘Appropriates’ is defined under s.3(1), which states: ‘Any assumption by a person of the rights of an owner amounts to an appropriation.’ This means that the defendant must have taken the item and treated it as his or her own. The rights of an owner can include:




• selling


• destroying


• hiring out


• lending
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Examiner tips


When applying appropriation to a scenario make sure you say how the item was appropriated and use correct legal definitions. For example: Fred appropriated the watch from George, he took it when he was not looking, he assumed the rights of the owner.
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For example, if someone takes a book from a library and sells it, he or she will be deemed to have treated it as his or her own, and therefore found to have appropriated it. Only the owner has the right to sell the book. It is worth noting that appropriation does not take place until the owner’s rights have been assumed. If Josh borrows a DVD from Jasbinder but innocently forgets to return it to him, he has not appropriated it. However, if Josh discovers the DVD and decides to sell it at a car-boot sale, it is at this point (the decision to sell) that he will be deemed to have ‘appropriated’ the DVD, and therefore treated it as his own.



Rights



The case of R v Morris (1983) gave rise to the question whether ‘rights’ means ‘all rights’ or ‘any rights’. The defendant had switched the price labels on items in a supermarket, giving lower prices to more expensive items. He then paid the lower prices. The courts had to determine whether, for ‘assumption by a person of the rights of an owner’ to be proved, the assumption had to be of all the rights or whether it could be of any of the rights. It was stated by the House of Lords that it was enough to prove ‘the assumption…of any of the rights of the owner of the goods’.


Consent


Can a defendant be deemed to have appropriated an item when consent has been given by the owner? R v Lawrence (1971) clarified this situation, deciding that an item can be appropriated with the owner’s consent. An Italian student, who spoke little English, hired a taxi, showing the driver the address to which he wanted to go. He offered the driver £1, but the driver indicated this was not enough, taking the £1 plus another £6 from the student’s wallet. It was held by both the Court of Appeal and the House of Lords that this amounted to appropriation.
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Knowledge check 1


Why can a defendant be deemed to have appropriated an item when consent has been given by the owner?
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This point of law was backed up by R v Gomez (1993) and R v Hinks (2000). The courts commented that appropriation, if carried out with consent, must be looked at in conjunction with s.2 of the Theft Act 1968, defining ‘dishonesty’, so the question to ask was: did the defendant appropriate the item dishonestly? In R v Hinks the defendant was judged to have done just that, even though she had full consent from the owner, because the claimant was a vulnerable person who trusted her.


Section 4: property


Section 4(1) of the Theft Act 1968 states that property ‘includes money and all other property, real or personal, including things in action and other intangible property’. The definition clearly covers five types of property:




• Money: this includes all coins and banknotes of any currency.


• Real property: this means land and buildings, but under s.4(2) of the Theft Act 1968, the theft of land, or of things forming part of land, only arises:







    (a) where someone not in possession of the land appropriates something forming part of it by severing it or causing it to be severed, or after it has been severed, (for example, taking turf or a fixed concrete statue from someone else’s garden)


    (b) where a tenant appropriates fixtures from the premises or land







• Personal property: this is tangible property (other than land and buildings) — items that can be seen, touched and moved and are not attached to the land. Examples are books, DVDs, watches and jewellery.


• Things in action: this refers to rights to recover money or personal property, which can be enforced against another person by an action in law. An example of this type of property is a bank account. If someone causes a debit to be made from someone else’s bank account, this can be seen as appropriating a ‘thing in action’.


• Other intangible property: this is property that cannot be touched. Examples include patents and export quotas.
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Examiner tips


As with appropriation, you must make sure that you explain what type of property has been stolen. It is not sufficient to say it is just property — you must clarify what type of property. Also watch out for s.4(3) and s.4(4) — make sure the property being stolen is capable of being stolen, and if not explain why not.
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Property that cannot be stolen





• In Oxford v Moss (1979), it was deemed that intangible property in the form of confidential information was not capable of being stolen, so the defendant, who had seen questions on an exam paper ahead of the actual exam, could not be held to have appropriated property.


• Section 4(3) of the Theft Act 1968 states that picking fungi, flowers, foliage or fruit from the wild does not amount to theft, unless it is done for reward, sale or other commercial purpose.


• Section 4(4) of the Theft Act 1968 states that wild creatures that are untamed or not ordinarily kept in captivity cannot be stolen unless they have been, or are being, ‘reduced into possession’ by someone else.
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Knowledge check 2


What point of law does Oxford v Moss give us?
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Section 5: belonging to another


Section 5(1) of the Theft Act 1968 states: ‘Property shall be regarded as belonging to any person having possession or control of it.’ That person does not, therefore, necessarily have to be the legal owner of the property. For example, if David has hired a cement mixer for the day, he is not the legal owner (it remains the property of the hire company), but he is in possession and control of it. So if the mixer is taken from him without his permission, this will be seen as appropriating property ‘belonging to another’.


Appropriating your own property


Following the case of R v Turner (No. 2) (1971), a person can be found guilty of appropriating property of which he or she is the legal owner. The defendant took his car to a garage to be repaired, having agreed to pay for the repairs when he collected the vehicle. The garage staff parked the car on the road outside their premises at the end of the day. During the night, the defendant used a spare key to remove the car without paying for the repairs. It was held by the Court of Appeal that the garage was in possession and control of the car and therefore the defendant could be found guilty of stealing what was his own property.
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Knowledge check 3


A defendant is under an obligation to make restoration when he or she receives property by mistake. What is the leading case that gives us this point of law?
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Property obtained by a mistake


Section 5(4) of the Theft Act 1968 states:




Where a person gets property by another’s mistake, and is under an obligation to make restoration (in whole or in part) of the property or its proceeds or of the value thereof, then to the extent of that obligation the property or proceeds shall be regarded (as against him) as belonging to the person entitled to restoration, and an intention not to make restoration shall be regarded accordingly as an intention to deprive that person of the property or proceeds.





An example is where a shopper is given too much change. If the shopper fails to return the money, he or she could be liable under s.5(4), being deemed to have appropriated property that belonged to another. In Attorney General’s Reference (No. 1) (1983), where an employer paid into an employee’s bank account more salary than the employee was entitled to, the Court of Appeal held that the employee, having received the excess payment by her employer’s mistake, was legally obliged to return it.
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Examiner tips


When applying the actus reus to property offences explain and apply each element in turn. This gives a more structured, coherent answer. Remember to use the key definitions for each of the elements.
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Mens rea



Section 2: dishonesty


The Theft Act 1968 does not define the word ‘dishonestly’. However, in s.2(1) it lists a number of situations where a person’s appropriation of property belonging to another would not be classed as dishonest in the eyes of the law:




• Where the person believes that he or she has in law the right to deprive the other of the property. This might apply if the person believes the item concerned is in fact his or her own property.


• Where the person believes he or she would have the other person’s consent if that other person knew of the appropriation. This might apply where a student borrows a flatmate’s iPod in the honest belief that the flatmate would not mind.


• Where the person believes that the owner of the property cannot be traced by taking reasonable steps. This might apply where a person finds a £5 note, because he or she would probably be right in thinking that putting up a poster stating ‘£5 note found’ would lead to a number of people claiming to be the owner, so that the real owner would be difficult to identify.





If none of the above situations fits the scenario, a two-stage test to determine dishonesty must be applied, following the court’s ruling in R v Ghosh (1982). In that case, a doctor was found to have claimed fees for an operation that he had not carried out. Arguing that the same amount of money was legitimately payable to him for consultation fees, he said he had not been dishonest. After the jury members were directed to apply their own standards to decide if what he did was dishonest, he was convicted. Upon appeal, the court decided that the correct test should be based on both an objective and a subjective element.
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Knowledge check 4


What are the three situations under s.2 of the Theft Act 1968 where the defendant would be deemed not to be dishonest?
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Two-stage test from R v Ghosh


Two questions must be asked to determine whether the defendant has been dishonest:





(1) Was the action dishonest according to the standards of a ‘reasonable and honest man’? This is an objective test, based on the opinion of a reasonable person in a given situation.



(2) Did the defendant realise that what he or she was doing was dishonest by those standards? This is a subjective test and it must be determined by trying to understand what the defendant was thinking at the time of the actus reus.





If the answer to both these questions is yes, then the defendant will be held to have been dishonest. If the answer to either of the questions is no, then the defendant will be held not to have been dishonest and therefore will not be guilty of the offence of theft under the Theft Act 1968.
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Examiner tips


You must apply the mens rea in full to obtain full marks. It is not sufficient to say that the defendant was dishonest — you must say why he was dishonest and apply the R v Ghosh test in full.
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Section 6: intention of permanently depriving the other


This is the final element that has to be proved if the defendant is to be found guilty of theft. Section 6(1) of the Theft Act 1968 states:




A person appropriating property belonging to another without meaning the other permanently to lose the thing itself is nevertheless to be regarded as having the intention of permanently depriving the other of it if his intention is to treat the thing as his own to dispose of regardless of the other’s rights; and a borrowing or lending of it may amount to so treating it.
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Examiner tips


Theft is a stand-alone offence as well as being a vital part of other offences under the Theft Act. Remember to follow the set rules when applying this offence: first define theft; then explain what the actus reus is and apply; finally explain the mens rea and then apply. Finish with a conclusion — is your defendant guilty or not?
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The defendant may have shown an intention to treat the thing as his or her own to dispose of by selling it, destroying it or spending it.


The Court of Appeal’s decision in R v Velumyl (1989) shows that taking someone else’s money, even with the honest intention of replacing it with an equivalent sum a couple of days later, can still amount to appropriating the money ‘with the intention of permanently depriving the other of it’. The defendant in that case took £1,050 from his employer’s safe to lend to a friend just for the weekend, intending to pay back money to the same value when the friend had repaid him. He was judged guilty of theft because he was not planning to replace the money with exactly the same notes or coins as he had taken.


Borrowing property


Under normal circumstances, there is no intention to permanently deprive when an item is borrowed because the intention is to return the object. However, the appeal court said in R v Lloyd (1985) that if the intention was to return the item in such a changed state that ‘the goodness, the virtue and the practical value had gone out of the article’, that would amount to an intention to permanently deprive for the purposes of s.6 of the Theft Act 1968. In that case, the defendant took films from a cinema, copied them and replaced them. This did not amount to theft, as the films’ goodness and practical value were unchanged. However, if Greg takes Nikesh’s ticket to a football match, watches the match and then returns the ticket, this clearly has an impact on the practical value of the ticket and shows intention to permanently deprive for the purposes of s.6.


Conditional intent


Following R v Easom (1971), if a defendant’s intention permanently to deprive is based on a condition, for example that something is actually worth stealing, that is not a sufficient intention for a conviction for theft. The defendant in that case picked up a woman’s handbag in a cinema, looked inside and then replaced it without taking anything. He was not guilty of theft.
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Knowledge check 5


Define the meaning of conditional intent.
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Summary




• Appropriation. The defendant must appropriate the property, assume the rights of the owner and treat it as his or her own (e.g. R v Morris — rights can be all or part; R v Lawrence — appropriation can be with the consent of the owner).


• Property. Property must be capable of being stolen: money, real property, personal property, things in action and other intangible property. Knowledge and information is not capable of being stolen (e.g. Oxford v Moss).


• Belonging to another. The property must belong to another — or the person who has possession and control of the property at the time of the theft (e.g. R v Turner (No. 2)).


• Dishonesty. The defendant must be dishonest as to the appropriation. R v Ghosh test is applied — would a reasonable person deem the actions of the defendant as dishonest, and did the defendant realise his actions were dishonest by those standards?


• Intention to permanently deprive. There must be an intent to permanently deprive. If something is taken it must be replaced with the exact same item (e.g. R v Velumyl). Conditional intent is not sufficient (e.g. R v Easom).
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Robbery


The offence of robbery is defined in s.8(1) of the Theft Act 1968, which states:




A person is guilty of robbery if he steals, and immediately before or at the time of doing so, and in order to do so, he uses force on any person or puts or seeks to put any person in fear of being then and there subjected to force.





Both actus reus and mens rea must be present if the defendant is to be found guilty.


Actus reus


The theft must be complete


For the defendant to be found guilty of robbery, the theft element of the crime must be complete. If any elements are missing, for example if the defendant did not have the intention to permanently deprive, or there is deemed to be no appropriation, there can be no offence of robbery. In Corcoran v Anderton (1980), the defendant hit a woman in the back while his accomplice pulled at her bag. The woman let go of the bag and it fell to the ground. The woman screamed, the defendant and his accomplice ran off and the woman was able to pick up her handbag. Even though neither the defendant nor his accomplice ever had sole control of the handbag, this was deemed to be a completed theft, the tugging at the handbag being sufficient exercise of control to be appropriation. As the tugging was force, and as it was at the time of the theft, the defendants were guilty of robbery. The theft would not have been complete if the woman had not let go of the bag, but there would have been an attempted theft, and as force was used, this would have amounted to attempted robbery.
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Knowledge check 6


In the case of Corcoran v Anderton the defendant did not successfully obtain the handbag. Why is this still deemed a completed theft?
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Force or threat of force on the victim


If robbery is to be proved, the defendant must have used force or put the victim in fear of force. A threat of force is sufficient; actual physical force does not need to have been applied. An example would be where someone is threatened with being beaten up if he or she does not hand over a bag; this amounts to a threat of force. If the theft is then completed, the charge of robbery will be successful. Silence, as well as words, can constitute a threat, and so can the use of weapons.
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Examiner tips


In any question involving robbery it is advisable that you first prove the theft. Explain and apply all elements of theft — actus reus and then mens rea — and then raise the charge to robbery. This will ensure that you have applied all elements.
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The word ‘force’ is given its ordinary meaning by the courts. R v Dawson and James (1976) shows that force can be minimal: mere jostling or the slightest push. In this case, one of the defendants nudged the victim, who stumbled, and the other defendant then took the victim’s wallet. The definition of ‘force’ can also be extended, as in R v Clouden (1987), where the Court of Appeal held that the force applied to a shopping basket when it was snatched from the victim amounted to indirect force.


The key is that the defendant must either put the victim in fear or seek to put the victim in fear, and it does not matter how this is achieved. It is important to remember that, as long as the defendant seeks to put the victim in fear, the offence is committed, whether or not the victim is actually frightened. Nor does the theft have to be from the person who is being threatened. It is still robbery if a man holds a bank customer at gunpoint while demanding money from the cashier, who hands the money over; the force is used against the customer, while the theft is from the bank.
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Knowledge check 7


Which case shows that force can be minimal — mere jostling or the slightest push is sufficient?
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Immediately before or at the time of the theft


A stipulation of this offence is that the force must occur either immediately before or at the time of the theft. If the force is separate in time from the theft, there is no robbery. For example, if two men are fighting and one is pushed to the ground unconscious, and the other then decides to take the injured man’s wallet, this is not robbery. It is an offence against the person and theft — two separate crimes. Theft can, however, be regarded as a continuing act. In R v Hale (1978), the defendants had entered a house, and one of them tied up the occupant while the other went upstairs and took jewellery from the bedroom. The pair then left, leaving the victim tied up. Even though the jewellery may have been taken before force was applied to the victim, the Court of Appeal deemed this appropriation to be continuing, and therefore the force was seen to be ‘at the time’ of the stealing.


This can also be shown in the case of Lockley. The defendant entered a shop and clearly put cans of beer under his jacket, the shopkeeper saw this, and as the defendant was leaving, he tried to stop him. The defendant pushed him out the way. The push was deemed force, and it was deemed that the theft was a continuing act — the appropriation of the beer was continuing until he had left the shop, therefore the charge of robbery was successful.
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Knowledge check 8


What important rule was laid down in Hale (1978) and upheld in Lockley?
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Examiner tips


In the exam there are often questions that involve the various elements of robbery. Remember the key is to focus on the issues that require discussion. So look out for a continuing act and remember to raise the issue of when the theft is complete, citing Hale as your point of law.
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Mens rea


For robbery to be proved, mens rea for theft must be present — the defendant must be dishonest (s.2 of the Theft Act 1968) in the appropriation, and must have the intention to permanently deprive the owner of the property (s.6). There must also be an intention to use force or a threat of force on the victim in order to steal.
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Knowledge check 9


What is the mens rea for the offence of robbery?
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Summary


Actus reus:




• The theft must be complete. All elements of theft must be proven. Corcoran v Anderton shows that the defendant does not have to successfully gain — as long as appropriation occurred at some point.


• Force or threat of force on the victim. There must be force or a threat of force. There is no requirement that the force be physical. It is also irrelevant that the victim may not actually be frightened. The meaning of force is down to the jury to decide, taking its ordinary meaning (e.g. R v Dawson and James). The force does not have to be directed at the victim.


• Immediately before or at the time of the theft. It is important when the force occurs — it must come either immediately before or at the time of the theft. Following Hale and Lockley the theft can be regarded as a continuing act and the force will be deemed to have been used at the time of the theft in these situations.


• Mens rea: the defendant must have full mens rea for the completed theft — he or she must be dishonest (s.2 Theft Act 1968) and must have the intention to permanently deprive the victim of the property (s.6). The defendant must also intend to use the force or threat of force to steal.
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Burglary


Burglary is described in s.9 of the Theft Act 1968. There are two separate types of burglary, both of which involve the defendant trespassing onto premises. One type of burglary involves the defendant entering premises with the intent to commit one of three offences. The other type involves the defendant first trespassing onto the premises and then, once inside, committing one of two offences.




• Section 9(1)(a) The defendant enters a building or part of a building as a trespasser with the intent to commit any of three ulterior offences:







    • to steal


    • to inflict grievous bodily harm on any person in the building


    • to cause unlawful damage to the building or anything in it







• Section 9(1)(b) The defendant, having entered any building or part of a building as a trespasser, commits one of two offences:







    • stealing or attempting to steal


    • inflicting or attempting to inflict grievous bodily harm on any person in the building
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Examiner tips


Explain and apply the mens rea in full. If you prove theft first and then raise the charge to robbery you should have applied all the required elements. Make it clear, using evidence from the scenario, that the force or threat of force was used in order to steal — if this is not obvious then you must consider both outcomes, guilty or not guilty. Note that recklessness as to the use/threat of force is not part of the mens rea.
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